This Question Paper consists of 24 questions and 7 printed pages.
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2.
General Instructions:

1. Candidate must write his/her Roll Number on the first page of the Question Paper.

2. Please check the Question Paper to verify that the total pages and total number of questions contained in the
Question Paper are the same as those printed on the top of the first page. Also check to see that the questions are

in sequential order.

3. Making any identification mark in the Answer-Book or writing Roll Number anywhere other than the specified
places will lead to disqualification of the candidate.

4, Answers for questions, like matching, True or False, Fill in the blanks, etc., are to be given in the answer-book.
Write your Question Paper Code No. 68 / ESS /1-C on the Answer-Book.

6. In case of any doubt or confusion in the question paper, the English Version will prevail.
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Notes :

This question paper consists of 24 questions in all.
All questions are compulsory.

Marks are given against each question.

Section - A consists of :

(@) Q. No.1 to 8 - Multiple Choice Type Questions (MCQs). Q. No. 1 to 7 carrying 1 mark each
and Q. No. 8 carrying 2 marks. Select and write the most appropriate option out of the four
options given in each of these questions.

(b) Q.No. 9 to 17 - Objective type questions. Q.No. 9 to 10 carry 2 marks each (with 2 sub-parts
of 1 mark each) and Q.No. 11 to 17 carry 1 mark each. Attempt these questions as per the
instructions given for each of the questions 11 to 17.

Section - B consists of :

(@) Q.No. 18 and 19 - Very Short Answer type questions carrying 2 marks each to be answered
in the range of 30 to 50 words.

(b) Q.No. 20 to 23 - Short Answer type questions carrying 3 marks each to be answered in the
range of 50 to 80 words.

() Q.No. 24 - Long Answer type question carrying 4 marks to be answered in the range of
80 to 120 words.
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Note /‘F*Ié'ST :

(1)
()

Answers of all questions are to be given in the Answer-Book given to you.
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15 minutes time has been allotted to read this question paper. The question paper will be distributed
at 02.15 p.m. From 02.15 p.m. to 02.30 p.m., the students will read the question paper only and

will not write any answer on the answer-book during this period.
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SECTION - A/@Us - A

1.  Which of the following is not a component of chart ? 1
(A) Grid lines (B) Legends (C) Flow charts (D) Tick marks
TTH | 1 91 1 Teh HEHE TE § 2
(A) fue @A (B) <N (C) Tl =M (D) fok #meh
2. Identify the feature of Excel which allows you to draw geometrical shapes : 1
(A) Shapes (B) Geometry (C) Auto Shapes (D) Graphics
T % SH HIeR i Y Sl 3Teh] SATHA 3ThR T i H AEE hidl © ¢
(A) I (B) SHM (C) 3 I (D) WfRed
3.  Different effects can be applied on smart art graphics with the help of which tab ? 1
(A) Developer (B) Design (C) Format (D) Data
fFg 39 = TR | T 3T Mitha TR STeT-3TelT Sthaed UE foh S Hehd € 2
(A) CTAWR (B) fesmEa (C) e (D) wI
4.  Which of the following shortcut key is used to select entire document ? 1
(A) Ctrl+All (B) Ctl+A
(C) Ctrl+Ent (D) Ctrl+Whole
T TS hl Tk A1 facrae w1 o fou f widehe st o1 STarT 2 § 2
(A) Ctrl+All (B) Ctl+A
(C) Ctrl+Ent (D) Ctrl+Whole
OF 10
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5.  Which of the following key combination is pressed to make the line of text bold after its 1

selection ?
(A) Ctrl+Bold (B) Ctrl+I1 (C) Ctrl+B (D) Ctrl+O
TRZ I AR TaciaR 781 & oI 374 9 fohd 1 TS 1 M 9 39 sies foman S Hehdl € 2
(A) Ctrl+Bold (B) Ctrl+1 (C) Ctrl+B (D) Ctrl+O
6.  Which of the following syntax for a function is correctly written ? 1
(A) SUM (B3 : F3) (B) SUM (F5/A5)
(C) SUM (=*P5) (D) SUM (=*P3 : A3)
Toh R & fow 590 9 s o1 foeesm wel ot § foran mn g2
(A) SUM (B3 : F3) (B) SUM (F5/Ab5)
(C) SUM (=*P5) (D) SUM (=*P3 : A3)
7. Identify the type of element which can not be shown inside a text box : 1
(A) Table (B) Paper sheet (C) Clip art (D) Smart art
39 TATHE ol Tea-y {5 oMy SR s o it 78l fomn 9ehd € ?
(A) Fa (B) UM ¥l (C) foerg o (D) ¥R 3T
8. In the questions given below, there are two statements marked as Assertion (A) and 2
Reason (R).

Choose the correct option out of the choices given below in each question :

(i) Assertion (A) : Line spacing determines the height of text in the paragraph.
Reason (R) : The default option is single line spacing.
(A) Both (A) and (R) are true and (R) is the correct explanation of (A).
(B) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(©) (A) is true but (R) is false.
(D) (A) is false but (R) is true.
(E) Both (A) and (R) are false.
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5 (R) : Eipice faeheq fETTer o ST 2rar § 1

(A) (A) 3R (R) IH T2 ¥ 3R (R), (A) 1 Hleh 90 T
(B) (A) 3R (R) I T § W (R), (A) 1 & v Tl B |
(C) (A) W&l & W (R) Tow@ |
(D) (A) 7T § W (R) T& T |
(E) (A) 3R (R) S TTerd £
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(i) Assertion (A) : Bar Code Reader is an image scanner.

Reason (R) : An image scanner translates printed images in an electronic format
which can be stored in a computer’s memory.

(A) Both (A) and (R) are true and (R) is correct explanation of (A).

(B) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(©) (A) is true but (R) is false.

(D) (A) is false but (R) is true.

(E) Both (A) and (R) are false.
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(B) (A) 3R (R) < W& € W (R), (A) Tk o & © |

(C) (A) W&l § W (R) Terd B

(D) (A)TTerd € W (R) WEl €|

(B) (A) 3R (R) I T 7|

9.  State True or False for the following statements : 2
(i) Font size is measured in meters.
(i) By default Tab stops are set at 0.5 inch intervals.

1 oAl ° 9 @1 A1 Terd JaRy
(i)  hIC TS I X H AT S ¥
(i) SRl FRI <8 WIH 0.5 39 o Ha0al W H2 B 2|

10. Fill in the blanks : 2
(i)  When you cut or copy text, the text is stored in an area of memory called
(id) is the short-cut key for paste option.

Tt <ot =1 Wi

(i) 9 AT TR I HE I HU B €, 9 RS FURT o Th TRAT H S BR A S § 5
wEd © |

(ii) e fohe % faw widhe =t Tl

Fill in the blank :
e T o)
11. colour wavy line appears under misspelt word. 1

U1 &1 dEER AR Tad WidT o v & = fears et 21

12. XY charts are also known as charts. 1

XY = <l ot gl ST B
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13. You can add to any side of a paragraph along with background shading. 1
9 T T o Rl off wee H TS L Fehd © 3R Y H dhUSs AfET off |

14. If you press function key F7, which feature will get activated ? 1

7fg 319 TR i F7 o §, @ A 91 Wik Gfshg g 2

15. Name the two orientation options, for any page of a document. 1

fordlt TTES & fohelt U1/ T8 & o™l §1 9&hR & STIREeYH faedl & M fafaw |

16. Which function is used to calculate sum of a range of cells with respect to a given criteria ? 1

T I ok SMYUR W Ted I k1 I Hehter o foTT fore Sem™ k1 9= foman ST & 2

17. is a slide that is used as a starting point for all other slides of the presentation. 1

SIS % 31 wsel & foru s omfues farg ot g o+ & T
SECTION - B/ ®@UE - B

18. (i) What is the difference between a compiler and an assembler ? 2

FHETZER ST TEeR § 3t T i |
OR /3¥ar
(i) What is a High level language ? Give at least two examples.

TS oI SaSl 91 &It € 2 A 9 A ol SSELl St |

19. Suneeta was teaching about printers and its types in a computer class. At the end she asked 2
students following two questions. Please try to answer.

(@) Name the printer type which produces text by combination of dots on a paper.

(b) Name the types of printer which is extremely fast but works quietly with automatic
paper loading feature.

Teh PR FAH § GArr fie 3R 37 TohR & o | ver W off | 3t & ofd § 38 Bl § f
9T T | AT 3TRT ST ST
(a) 39 fiex &1 AW A S IR W el F Fae ¥ T fife w7
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20. (i)  Write names of any three generalized packages which are most commonly used.

fopl A STeTgss Yahsil o M fafEau S 1™ R 9 3= 8 2
OR/31am
(i) Write any three DataBase Management System (DBMS) Programs.
forel i tersr Hasiiie faen gl & M fafay |

21. What are the three options available under select starting document process in Mail Merge ?

Explain briefly.

Ao 7ot H fetae wifén s wfshan & ded Suetsy i fashed a1 € 7w faero difsm

22. Expand the following (Any three) :

(a) ISP
b) PC
(c) ISDN
(d) TCP
() TLD
=1 =1 quiterey fafan (e i) -
(a) ISP
b) PC
(c) ISDN
(d) TCP
() TLD

23. Write the steps to print the addresses directly on the envelopes using Mail Merge.

TS ISl ohl WM ek U dl ol 918 Teerd R fife i & ww fafeu |

24. (i)  Define Organizational Domain. What are its types ?
FEINT (ARSI ) SHF bl aRefad wifsie | 39 fohad gR € 2

(i) Explain Domain Name System with example.

A 99 faey 1 3T & WY GUH BT |
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